nfN"—————— =~ 2" -~ e g
4"
1 3/4" 1 3/4||
J ¢ J
9" _— - 3"4> <73u 4»_—9"

1 ==

J “ J

8" —’<74 —_— s 2" -t 000000000 10||

| — |

1 3/4" 13/4"
D c 4
7" 5" [, 1" -~ 11||
4"
1 3/4" 1 3/4"
12"
6" —— 6"4 b ‘ 4" ‘
T 13/4"
1 3/4"
-~—5fr—— 7" “A noN\  ATAS INTERNATIONAL, INC
\ Allentown PA
DSF & DSH Design Wall Panels oo
A" 480-558-7210
T "™ Design Wall Panel Profile Detail
| esign Wall Panel Profile Detai
13/4 DWG. NO. e 752612016

APP BATI
4&; MATERIAL DAS ¥7/26/2016
REV.|  Date DESCRIPTION OF REVISION BY | APP SHSZE B SE oy

NO.




10"

ﬂ g 1 1*/8"
1

AN

— 1

4" -~
o
3" I VI
J
. g" L 4
J
- 7" R
J
. 6" L &

AN B

7I|

N

J

/A

4|I

8"

3"

(.

-

—_
S~~~
5]

(.

-

—
S~
®

12"

(.

DWF & DWH Design Wall Panels

Allentown PA
610-395-8445
Mesa AZ
480-558-7210

ATAS INTERNATIONAL, INC

TITLE

etail

DWG. NO.

R
KRK

DATE

7/26/2016

APP DAS

REV.
NO.

DATE

DESCRIPTION OF REVISION

BY

APP

MATERIAL

PATE7/26/2016

SH. SIZE B

SCALE

X:X




#10 x 1" Wafer Head Fastener

Design Wall Panel

A —=——— -

!
-

/Pre-DriIIed Fastener Hole

Pre-Drill Fastener Holes for Panels Greater than 20'-0" in Length.

ATAS INTERNATIONAL, INC

Allentown PA
610-395-8445
Mesa AZ
480-558-7210

DWG. NO.

DR
DMR

DATE,

10/4/2016

APP

REV.
NO.

DATE

DESCRIPTION OF REVISION

BY

APP

MATERIAL

DATE

SH. SIZE B

SCALE

X:X




Design Wall Panel
10 x 5/8" Pankcake Head Screw

[ Design Wall Clip

Subgirt

Allentown PA
610-395-8445
‘\ - Mesa AZ
) > 480-558-7210

ATAS INTERNATIONAL, INC

TITLE

Design Wall Clip Open Detail

DWG. NO.

DR
KRK

PATE 6/9/2021

APP

DETAIL A

NO DATE DESCRIPTION OF REVISION

BY

APP

MATERIAL

DATE

SH. SIZE A

SCRE 3.y




Vertical Panel

<waY

AN VW

Interior Finish

Metal Wall Stud

Water Resistant Insulation

Water and Air Resistive Barrier

Vertical Subgirt

Exterior Gypsum Board

Design Wall Panel
Membrane Strip (by others)

Flashing Fastener (by others)

Flashing (by others)
Horizontal Subgirt

#10 x 5/8" Wafer Head Screw

Vented J Channel

Base Trim

4o
Lfﬂ%&
1/2" 1/2"

Base Trim
DWA661: D1=1 1/4"
DSA661: D1= 2"

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

"‘\ : Mesa AZ

Y 480-558-7210

TITLE

Design Wall Open Base Detail

DWG. NO.

REV.

NO. DATE

DESCRIPTION OF REVISION

MATERIAL

DR DATE
DMR 7/12/2016
APP DATE

SH. SIZE B SCALE X_X




Vertical Panel

Joggle CIeat/ / -

Design Wall Panel
(Low Point Panel)

Alternative Subgirt Orientation

1/2">§ ﬁ "

NS

e

Joggle Cleat

Interior Finish
Metal Wall Stud

Exterior Gypsum Board
Water and Air Resistive Barrier
Water Resistant Insulation

#10 x 5/8" Wafer Head astener
Horizontal Subgirt
Vertical S
Painted Pop

Backer Rod and Sealant

Design Wall Panel (High P0|nt§>anelh/

irt
ivet

Angle Trim

Channel

T1 5/8" ~

1/4" c.H.ﬂ F j

71u
D1

i

Support Z
DWA681: D1= 1"
DSA681: D1=1 5/8"

3/4" L

J Channel

DWA118: D2=1 1/8"
DSA178: D2=1 7/8"

Tl 5/8" -~

% }
D2
o

Angle Trim

DWA680: D2=1 1/8"
DSA680: D2= 1 3/4"

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

Mesa AZ
480-558-7210

TITLE

Design WaII Open Endwall Detail

DWG. NO. DR DATE
DMR 7/13/2016

APP DATE
MATERIAL DAS

REV.

NO.

DATE

DESCRIPTION OF REVISION

SH. SIZE B SCALE X_X

BY | APP




Vertical Panel

\Design Wall Panel (Low Point Panel)

Joggle Cleat
Inside Corner Post

Interior Finish
#10 x 5/8" Wafer Head Fastener

Exterior Gypsum Board Substrate
Water and Air Resistive Barrier
Painted Pop Rivet

Water Resistant Insulation
Horizontal Subgirt

Vertical Subgirt
Metal Wall Stud

Design Wall Panel (High Point Panel)

g
L

Joggle Cleat
DSA975/DWA975

Alternate Subgirt Orientation

D1
1" b
o 1"
Support Z

DWA681: D1= 1"
DSA681: D1= 1 5/8"

D2

|

D1

1

|

4Il

i
11/2"

Inside Corner Post
DWA601: D1= 2 3/4", D2=1 1/8"
DSA601: D1=3", D2=1 7/8"

ATAS INTERNATIONAL, INC

Allentown PA
610-395-8445
Mesa AZ
480-558-7210

"Désign Wall Open Inside Corner Detail

DWG. NO.

01

9/22/2021

Updated Inside Corner Dimensions

KRK

DR
DMR

DATE

7/15/2016

APP

MATERIAL

REV.
NO.

DATE

DESCRIPTION OF REVISION

BY

APP

DATE

SH. SIZE B

SCALE

X:X




Vertical Panel

|  /' \ ’ Mn - - . . . . 1/2n
—~ - = - Alternative Subgirt Orientation
N < T
i )\ v
—Interior Finish R 3/4"
T Horizontal Subgirt J%
\Water and Air Resistive Barrier 3/4 b1
Vertical Subgirt "
L T Metal Wall Stud JD(\)A?A%IE [C):s!f;ts l x| 1172
T Exterior Gypsum Board / 4"
Design Wall Panel (Low Rib Panel) D2
Water Resistant Insulation J
1Il
I \ . . 1"
| - Painted Pop Rivet | :
— e i i Outside Corner Post
\ ‘\ BN BN \ #10 x 5/8" Wafer Head Fastener DWA602: D1= 2 3/4"; D2=1 1/8"
EEEREN BEER Joggle Cleat DSA602: D1= 3"; D2=1 7/8"
EERREN RN " Outside Corner Post 1"
L ol :é/Design Wall Panel (High Rib Panel) Support / ATASINLIIEelj]tNOI:V:ISAVAL, INC

— Support Z DWA681: D1= 1" 610-395-8445

- DSA681: D1= 1 5/8" \\ " ssvamem0

e Design Wall Open Outside Corner Detail

DWG. NO. DR DATE

H DMR 7/19/2016
01 9/22/2021 Updated Outside Corner Dimensions KRK APP DATE

MATERIAL

REV. SH. SIZE SCALE .
NO. DATE DESCRIPTION OF REVISION BY | APP B X_ X




Vertical Panel

AN

= =
= =
= =
g T N
| —
|
— — I
T o
/
— ey
|
|
1 =
J —
L= =
. —

AN

Metal Stud
Coping System (Rapid-Lok Coping)

Wood Nailer

J Closure
Vertical Subgirt

#10 x 5/8" Wafer Head Screw
Horizontal Subgirt

Design Wall Panel

Water Resistant Insulation

Water and Air Resistive Barrier

Exterior Gypsum Board

Interior Finish

Metal Wall Stud

| x

15/8"

a

J Closure

DWA270: D2=1 1/8"
DSA270: D2=1 7/8"

i
3/4"

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

- Mesa AZ

\ 480-558-7210

TITLE

Design Wall Top of Wall Detail

DWG. NO.

DR DATE
DMR 7/20/2016

AP DATE

P
DAS

REV.
NO.

DATE

DESCRIPTION OF REVISION

BY

APP

MATERIAL

SH. SIZE B SCALE X_X




Vertical Panel

< TH

Interior Finish

Metal Wall Stud
Exterior Gypsum Board

Water and Air Resistive Barrier

Water Resistant Insulation

Membrane Strip (by others)
Flashing Fastener (by others)

#10 x 5/8" Wafer Head Fastener

Horizontal Subgirt
Metal Stud

Vertical Subgirt
Backer Rod and Sealant

Flashing (by others)

Vented J Channel

Head Trim
Window

TR A

- D1 -
X
3"
92:
1/2" O.H. ju
H ea d Tn m ATAS INTERNATIONAL, INC
Allentown PA
DWA550: D1=1 1/4" 610-395-8445
\ ) Mesa AZ
DSA550: D1= 2" RS 480-558-7210
"™ Design Wall Open Head Detail
DWG. NO. DR DMR DATE7/14/20]_6
o1 | 972272021 Updated Head Trim Dimensions KRK ATERTAL APP DATE
T\]E(;/ DATE DESCRIPTION OF REVISION BY | APP SH. SIZE B SCALE X:X




Vertical Panel

(E—

1/2" W.H.
} I
A 4 H

X

" H
3 H

Angle with Return
DWA683/DSA683

=

Interior Finish

=
: : Window

Angle with Return

? _—Joggle Cleat
I h
|| : | Metal Wall Stud =S Design Wall Panel (Low Rib Panel)
. Backer Rod and Sealant
: L . 15/8" =~
= Water and Air Resistive Barrier . . . .
| Alternative Subgirt Orientation T

‘

Water Resistant Insulation
x |
n D2
Angle (From Flatstock) 1/4 C'H'ﬂ % i
Vertical Subgirt * 3/4"
Horizontal Subgirt Tl 5/8" =~
J Channel J Channel
Angle Trim N | DWA118: D2=1 1/8"
Butyl Tape Variable D2 DSA178: D2= 1 7/8"
#10 x 5/8" Wafer Head Fastener 1 )
Design Wall Panel (High Rib Panel) Angle Trim
S ONAL, INC
Support2 DWAGS0: D2= 1 1/8" AR o,
P DSA680: D2= 1 3/4" NS el
LW 480-558-7210
Py' "™ Design Wall Open Jamb Detail
DWG. NO. DR DATE7/18/2016
Angle — APP DMR DATE
Note: * denotes color side. Ry|  Date DESCRIPTION OF REVISION BY | APP SHSIZE B |SAE wx




Vertical Panel

Window

Backer Rod and Sealant

Metal Stud

Window Sill Trim
/ Vertical Subgirt

v P / J Closure
o

= = — Horizontal Subgirt

o | e #10 x 5/8" Wafer Head Screw

Interior Finish

Water Resistant Insulation
Water and Air Resistive Barrier

Metal Wall Stud

Exterior Gypsum Board h 33/4" %Variable —
1/2" W.H.A 175° / )

D 1/2" O.H. o
’ Window Sill Trim l
* “ DWA670 I
15/8" — DSA670
3/4" ATAS INTERNATIONAL, INC
. Allentown PA
- — - N
T J Closure )W 480-558-7210
| DWA270: D2= 1 1/8" "™ Design Wall Window Sill Detail
DSA270: D2=1 7/8" pwe. - " oMr |7 "7/26/2016
AT APP DAS DATE
T\]E(;l DATE DESCRIPTION OF REVISION BY | APP SH. SIZE B SCALE X:X






